obooo0oDb:20110 70 40

OCOO0U0U0oooooooo@en)Unoo

O

p.3,300

1 1
/10001 + /10000 _ (0.100005 + 0.100000) x 103
(1.00000) x 10=*  1.00000
(2.00005) x 102 ~ 2.00005
= 4.99988 x 1073

v10001 — v10000 =

07172

1 1
v10001 — v10000 = =
v/10001 + /10000 (0.100005 + 0.100000) x 103

(1.00000) x 10° _ 1.00000
(2.00005) x 102~ 2.00005
= 4.99988 x 1073

x 1072

p.16,0 2.20, 50
O

ooo0o00oO0 i,;000000 alil,ali+1],...,ali+jl00000O
gboooagd

oooooodOoi,j000000 alil,ali+1],...,aljlO00O00OO
googno

p-17, dvector O O
oooooooo

/* al[ilOali+jl 000000 =/

/* alilOaljlO000000 =/

p.51, 00
LUx = Pb LUx = Pb
00000000o0obOO00 ADLUODOODO LOovooooog 00000000oO0DDoO00 PADO LUODOOD LOUOOOOOO
b1 bl
by by
p.51, 0000 b= Pb=
bn bn
p.52, 0000 Ly=1b Ly =Pb
pbh3000000 | /*Ly=bOOO */ /¥ Ly=PrbO0O0O */
00200
p.57, 200
1 1 1 1
1 1 rorl, 1 =—-4+e—1—-pon—+e—-1—-=¢c—-1~ -1
2o=1, z;=-+4e—-1—-—23=-4+e—-1—-=-=¢—-1~-1 € € € €




O

O

p.57, 800

l—ex1,14e?-2e~100002 =1, =1-2,=00000000

l—ex1,14+4e?-2e~10000x~1, 21 =1—-2,~00000000

p.65, 00000
340 300000

#include <math.h>

B e e

p.84, 000000
0Dooo

while (|d| >¢€ or n < nmax)

while (|d| >¢ and n < Npax)

p.95, 0000

0000 O (Jacobi method) 000000 (5.6) 000

00000 (Jacobi method) 0100000000 O0D-'00000000
00(5.6)000

p.100,00 5.300

0000000A0OOO0OOOUODOOOOOOOOOOOOG.10)00
gboooboobobobooooooobooboooon

0000000 AOOQOQOOOOOOOOOOOOOOOOOOOOOO
0000000000000 00O0O000 A0OOOOOOOOO0OO
ODp-'00Oooooo

p.100, 00 5.300
O

000A00O0O0O000DOODOODOOOOO

n

>

i=1,i#j

ID7Y(L + U)|l; = max %ij

1<j<n

<1

ajj

000000000 5200 (56)0 (5.1) DD 2000000 OOODO
oooo

O0D0A 0DO0O0O0DD0OOOO0OOO0DO0O0OO0OOOO0OO0D0DOOOdO0
Do0000Do0o0000 |zllp := |Pz|p 00DOO0OODOO
ooooooood Mzlp/lzllo = IDMz|./||Dzl, =
IDMD~*(Dz)|l:/| D=l OOO|(|M|lp = |DMD ', 000000
DMD~'=D(-D YL+U))D™'=—(L+U)D~' 0000000

n

>

i=1,i#j

IM|lp = (L +U)D"|li= max Zil<a

1<j<n

ajj

000000000 5200 (5.6)0 (5.1)00 00000000 OO
oooo




O

O

p.100,0 0 000 O
0Doo

0000000000 (Gauss-Seidel method) 000000

0000000000 (Gauss-Seidel method) 000000000 0D !
gogboaboooon

p.104, (5.18) 0 O

ddbidtlwddooboouoboobuoooabobaa

0000Dp~'0000000000D000wd0D0O0O0O000O0O0DODOODO
gboood

p.218,200

285 2x100*+8x10+5 2 , (8

5

4

)

285 2x102+8x%x10+5 2 9 8 5
T = i —<Z>“O+<Z>“O+<Z>




